01. A triangular pyramid has a base with sides measuring 3 cm, 4 cm,
and 5 cm. If the slant height is 9 cm, what is its total surface area?

02. The total surface area of a triangular pyramid is 800 square units. If
the base perimeter is 200 units and the height of the pyramid is 16 units,
what is the slant height?

03. A triangular pyramid has a base with sides measuring 7 cm, 10 cm,
and 12 cm. If the height of the pyramid is 8 cm, what is its total surface
arear

04. The total surface area of a triangular pyramid is 840 square units. If
the base perimeter is 210 units and the height of the pyramid is 10 units,
what is the slant height?

05. A triangular pyramid has a base with sides measuring 15 cm, 20 cm,
and 25 cm. If the slant height is 14 cm, what is its total surface area?

06S. The total surface area of a triangular pyramid is 900 square units. If
the base perimeter is 225 units and the height of the pyramid is 15 units,
what is the slant height?
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